= AH O
N = 0 &8 AF S & Al A
20118 =2 1 3 LE3IH R ~ WS
M R
MM DFGID FHE MAE =2
CHel: ZXGID EYE NE2Y (3
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH pjEsifon Hl =2
XH < ot 2,516,594 2,320,382 196,212
S 9,882 0 9,882
[ 25,000 0 25,000
= 2,481,712 2,320,382 161,330
ZX5tD EHE HAME 29 576,343 555,598 20,745
S 9,882 0 9,882
= 566,461 555,598 10,863
X6t e NE2Y 486,743 463,298 23,445
S 9,882 0 9,882
= 476,861 463,298 13,563
OHE Ol XHMER2H 213,123 206,975 6,148
S 1,754 0 1,754
= 211,369 206,975 4,394
202 OdH] 27,670 10,870 16,800
01 2o 27,670 10,870 16,800
OXNEENRE 22 HdEX A
00,0002 * 420l 16,800 0 16,800
301 Lt A= 2,000 2,260 A 260
10 SHALAHIE A2 2,000 2,260 260
OXNYAN St S2XH(SHHAMNA) NS L 2HE
QI(Z20IAtE2) AX 20,0008 * 1009 * 18] 2,000 2,260 A 260
303 ZaZ 7,000 23,000 216,000
01 Za2 7,000 23,000 A 16,000
OZM & HALAALZLIAMS(2MEE)
A3 7,000,0002 * 14l 7,000 3,000 4,000
OXYAH SAFMTEMIEZAZ(20AEZ)
2 02 0 20,000 220,000
403 XXIESHSXH=0E 24,308 18,700 5,608
£ 1,754 0 1,754
= 22,554 18,700 3,854
02 2IIZSOICHECHEE ALY 24,308 18,700 5,608
OSEXNYUMN HBAAH SKBS
Z3A 5,300,000 * 1Al 5,300 3,200 2,100
OXgMHERALE2H =HZ
3,508,000 * 14 3,508 0 3,508
£ 1,754 0 1,754
= 1,754 0 1,754
XA 248 M 140,770 135,278 5,492
201 LEr2YH| 63,770 58,278 5,492
01 AtS2t2IHl 32,025 33,925 21,900
Olger4=2H] 32,025 33,925 A1,900
OXYAN MY Z0H =42 (=20 A=)
ZA 100,000 * 110A 11,000 12,600 A 1,600
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MM DFGID FHE MAE =2
CHel: ZXGID EYE NE2Y (&te: @
2N -3 - c2(3H) - NEME - HES 0] At oH I & Hns2
OXEN =LHAEINE £22(20AEY)
23X 285,000,0002 * 2% 5,700 6,000 A300
02 222%H| 31,745 24,353 7,392
O[2222 2 HA 28, 145 23,513 4,632
OXNLNSESSHLESLREZ(SI)(20&EY)
ZA 1,750 * 8,549.5H 14,962 15,750 AT788
OXNLN HESse SHE SS(2UAEY)
ZA 30,0002 * 12& 360 540 A 180
OXNLNML UL REHANEEZERS
46,666 * 1501 » 8 5,600 0 5,600
O[AMAZEH SXHI] 3,600 840 2,760
OMYXSHSEE XA ARSI Z2=H|
A 300,000 * 128 3,600 840 2,760
XA Moo 27 29 11,864 11,960 N
201 LEt2HH| 864 960 N
01 AtR22t2IH] 864 960 A96
Olger=2H|] 864 960 N
oAM= DXANH 7
22X 72,0008 * 128tA 864 960 A96
KA UE SHAS 104,730 109,085 4,355
201 LEt2HH| 82,015 86,370 A4,355
01 AFRZt2lH] 57,890 59,870 A 1,980
Olger=29H|] 50,360 52,340 A 1,980
OB FEUII AT A} 50,360 52,340 A 1,980
OFEIIATA E22UHEB HE (20 AR
) ZA 65,0002 * 404 * 23 520 1,120 AB600
0 FEHIIA XZALE QM (=20laEY)
23 60 * 10,0000H 600 1,080 480
oMY ZEIIA ZE2H THHIEX (20
AHE 2} 23 02 0 900 2900
02 222%H| 24,125 26,500 A2,375
Ool2222 % HMA] 24,125 26,500 N2,375
OMAAl DXA L QES(20MEY) 20,375 22,750 N2,375
0E DI A 1,750 * 2,500A 4,375 5,250 A875
o2 gt Z3A 2502 * 64,000H 16,000 17,500 A1,500
KA Mg Z273 29 16,256 0 16,256
£ 8,128 0 8,128
= 8,128 0 8,128
403 AXISHERZ01E 16,256 0 16,256
£ 8,128 0 8,128
= 8,128 0 8,128
02 ZIIZSOICHEHHEE A I 16,256 0 16,256
OHMIQI2g BBAAL NCgR=
16,256,0002 * 14! 16,256 0 16,256




SH W2
B DS SYH HNE 29
ool BEED SY ME2Y (el a9
SA-E . S(E) - MEAY - BES 0 & 24 o1& o HIRE
s 8,128 0 8,128
= 8,128 0 8,128
s HEM &2 89,600 92,300 A2,700
S 3lAH2el 89,600 92,300 A2,700
201 et 87,700 90,400 A2,700
02 2234l 7,500 10,200 A2,700
O[AM&EHl 2Xl] 7,500 10,200 A2,700
OHOHBRAMAMAL & SHRAANZZ I 2
XNE=H (20 MEABEE 625,0008 * 128 7,500 10,200 A2,700
SEHOI THetzte 1,189,502 1,093,922 95,580
= 25,000 0 25,000
i 1,164,502 1,093,922 70,580
=35 Marztel 245,105 220,105 25,000
= 25,000 0 25,000
= 220,105 220,105 0
=37 M etz 245,105 220,105 25,000
= 25,000 0 25,000
= 220,105 220,105 0
201 Zer=g&l 43,305 30,105 13,200
S 13,200 0 13,200
= 30,105 30,105 0
01 AtR22iHl 41,805 28,605 13,200
Oolger=gtl] 40,805 28,605 12,200
o=z 2y
12,200,000& = 14| 12,200 0 12,200
= 12,200 0 12,200
Ol=&tl] 1,000 0 1,000
oRTEMLB 2 I
1,000,000 * 14 1,000 0 1,000
< 1,000 0 1,000
202 O 11,800 0 11,800
S 11,800 0 11,800
01 WY 11,800 0 11,800
ORRSMMLEHEAN L HEEH4 0/
20,0003 * 491 » 75 6,000 0 6,000
< 6,000 0 6,000
08 FTZRMUULE F401)
5,800,000& * 14 5,800 0 5,800
S 5,800 0 5,800
HES HA2YE 944,397 873,817 70,580
BMAEE 2l 937,082 866,117 70,965
101 1A 5,746 6,161 A415
04 JIZHMIZ2XNSE =+ 5,746 6,161 A415
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X

SRl PET HAIRY (&te @2
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH J)[| el Hl =2
OBAMEZY MEXHY QI2A(20 A=)
ZE 34,6109 * 201 = 62 4,292 4,707 A415
201 LEt=2AH| 542,496 551,916 A9,420
01 AFRZt2lH] 77,79 77,916 A120
Olget2H|] 71,796 71,916 A 120
O&EA SEAERE 7Y
23 300,0002 * 6& * 53 9,000 5,400 3,600
OBANPOUHEAALH FHHYXS(=2FH, 2,
ESES)(20 =23 1,190,0008 » 128 14,280 18,000 A3,720
02 222%H| 464,700 474,000 29,300
Ole2H]] 23,580 47,280 223,700
O&J|2d2 24 (2U) (=20 aE )
Z& 21,300,000 = 14l 21,300 45,000 A23,700
OI[Xtgt - &etl] 54,000 39,600 14,400
OXZESXH & S20
Z& 54,000,000 * 14l 54,000 39,600 14,400
206 K24l 14,700 10,400 4,300
01 M2Hl 14,700 10,400 4,300
OFAAHSY L =2 metA 79 11,500 7,200 4,300
o8& Z1etA 9
2 15,0002 * 10000 * 53] 7,500 6,000 1,500
OFANEZ Y $ut39Q
Z2E 500,000 * 83l 4,000 1,200 2,800
401 Al&H| L LY 87,500 10,000 77,500
01 Al&H] 87,500 10,000 77,500
O A E2ZA 50,000,000 = 14l 50,000 0 50,000
OSAELAIL (20 A=)
23X 9,500,000 * 14 9,500 10,000 A500
ORNEH SAHQl A AR N
13,000,000 * 14l 13,000 0 13,000
OEAM MIE EHZA 15,000,0008 * 14l 15,000 0 15,000
405 KHAHE SH 286,640 287,640 A 1,000
01 ML SEFSH| 286,640 287,640 A 1,000
OH Iz 36,500 39,000 22,500
OSY HEX IYU(2HAEZ)
2 A 36,500,000 = 104 36,500 39,000 22,500
OUEHA R (31A+24d)(2.49%12.49) (2 0l At
) ZA 198,500,000 * 1Al 198,500 200,000 A1,500
O=ZlAl & AFRA! LCD TVRY
3,000,000 * 1Al 3,000 0 3,000
2N M2 g 7,315 7,700 A385
301 Lt Az 7,315 7,700 A385
10 SHAIAHI 2 A2 7,315 7,700 N385
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